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3 (Sem-1) ENG

2 0 14

ENGLISH

( General )

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

English (Major) Students shall answer
Question Nos. 1, 2, 3 and 6, while other

students shall answer Question Nos. 1 to 5

1. How did Orwell justify the shooting of the
elephant? What does Orwell realise about the
nature of imperialism from it? 10

Or

Bring out briefly the Buddha's ^ encounter
with Angulimala.

Give a character sketch of Aunty Roopwati
from your reading of the story. The Misty
Hour. 10

Or

Give an accoimt of the arrival of the Dalai
Lama and the Tibetan refugees in
Dharamshala and the changes thereof.

A15—80*/72 ( Turn Over )



( 2 )

3. Answer any two of the following questions
5x2=10

(a) Explain Gandhiji's idea of Swadeshi in
economy.

(b) Give a brief description of the dangerous
jungle in The River.

(c) What were the reactions of the people
when they recognised the changed
Angulimala. entering the town for alms?

(d) Discuss why visiting Dharsimshala had
been a childhood dream of Rohinton

Mistiy.

4. Frame sentences to illustrate the meaning of
the foUowing phrases {any five) : 1x5=5

in favour of; on the contrary; hold
good ; bring to book ; get over ; bag and
baggage ; in cold blood.

5. Rewrite the following sentences correctly
{any five) : 1x5=5

(a) He said that he will come in a week.

(b) Have you a pen to write?

(c) He was prevented to do the work.

(d) I prefer tea than coffee.

A15—80*/72 ( Continued )

( 3 )

(e) I wish I was dead.

(f) He is a man of childish simplicity.

(g) He knows to swim.

[ For English (Major) Students only ]

6. Write a note on Naipaul's opinion on

Mahatma Gandhi. 10

Or

Comment on Ezekiers prose style from your
reading of the essay, Naipaul's India and
Mine.

•k "k ir

A15—80*/72 3 (Sem-1) ENG



3 (Sem-1) ALT ENG

2 0 14

ALTERNATIVE ENGLISH

Full Marks : 60

Time : 2V2 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions as directed :

(a) "Cold in the earth—and fifteen wild

Decembers."

Who is referred to in the above line?

(b) Whom does the poet refer to as Eremite'

in the poem, Bright Star?

(c) "Close bosom-fiiend of the maturing

sun;"

Who is the 'close bosom-fnend' of the

maturing sun?

(d) The river glideth at his own sweet will:"

Which river is referred to in the above

quoted line?

(e) "Hence Burgundy, Claret and port
Away with old Hock and madeira."

What is madeira?

1x7=7

A15—6500/74 ( Turn Over )



(2 )

(f) "Glory be to God for things—"

(Fill in the blank)

(g) Who is ToUund Man?

2. Answer any four of the following : 2x4=8

(a) Give the meaning of the following :

"Dear God! the very houses seem asleep;
And all that mighty heart is lying stilir

(b) Explain very briefly the poet's wish as
expressed in the following lines :

"Bright Star! would I were steadfast as

thou art—

Not in lone splendour himg aloft the night,"

(c) What are the two central themes of the

poem, Remembrance?

(d) How does Hopkins pray to God for
poetic inspiration?

(e) What memories of poet's childhood are
evoked by the piano?

3, Explain, with reference to the context,
any three of the following : 5x3=15

(a) "O fearful meditation! where, alack!
Shall Time's best jewel from Time's chest

lie hid?"

A15—6500/74

>

( Continued )

( 3 )

(b) "No nightingale did ever chaunt

More welcome notes to weary bands
Of travellers in some shady haunt,
Among Arabian sands

(c) "Sometimes whoever seeks abroad may find
Thee sitting careless on a granary floor.
Thy hair soft-lifted by the winnowing wind."

(d) "Much have I seen and known,—cities

of men

And maimers, climates, coxmcils,

governments.

Myself not least, but honour'd of them all,—
And drunk delight of battle with my peers.
Far on the ringing plains of windy Troy."

(e) "All things counter, original, Spare, strange;
Whatever is fickle, freckled (who

knows how?)"

(f) "What is this face, less cle^ and clearer
The pulse in the arm, less strong and

stronger—

Given or lent?"

4. Answer the following questions : 10x3=30

(a) Discuss Shakespeare's portrayal of the
character of the lady in 'Sonnet 130'.

A15—6500/74 f; Turn Over )



( 4 )

Or

(b) How does Pope satirize the people with
little learning' in his ppem? Critically
comment.

(c) Attempt a critical appreciation of
Wordsworth's Upon Westminster Bridge

or Solitary Reaper.

Or

(d) Critically analyze
Remembrance.

the poem,

(e) Discuss the significance of the title of
Elizabeth Barrett Browning's poem,

A Year's Spinning.

Or

(f) Discuss the significance of the
landscape of the Lotos Island as
depicted in Tennyson's The Lotos-

Eaters.

Or

(g) Attempt a critical appreciation of any
one of the following :

(i) Hopkins' Thou Art Indeed Just Lord

(ii) Lawrence's Piano

(Hi) Eliot's Marina

•k -k if

A15—6500/74 3 (Sem-1) ALT ENG

3 (Sem-1) BOD

2 0 14

BODO

( Modem Indian Language )

Full Marks : 60

Time : 2V2 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. ;

1x7=7

(^) ^ikR' in#
n# #nT

(it) ^miRt
TdMdWHl'M ^5n^?

(^) '1^^' Rrtr# ^nriTiT 1^?

(^) <a*^i5pi

A15—8000/7 (\Tum Over )



( 2 )

(^) <3*^1?' I^"^<a1 «l«cii«sn
irrf^ 3ii<3i^ ^l^Pi "^t^?

(15) 'tHTpt 3TFK' «sllR«dl
Ri<9criNi 4)|Ri >5roR^ Hi^ <;i<n?

2x4=8

(^) %4T ITFirf^ *^<51 HS'I ^
1^1

(t§) 'i^T la^snifWiT ttt

(tt) 4>Hi)>cl|f^ ̂  ^ TIFfr ^nPtd?

(^) <|c|Um1 ^fra^T ̂ TRT^ "41

3. "sf? #5[Rf #fTNt dlRkHI^ ^ifRlfe-^rraT
^ : 5x3=15

(^) TTIdRf^ toR tor,
^cl$l H^i;

6<aK<; mmR

^TdFI ^Tlfl ̂ 1

(la) RRdf ̂
.  srifM

—

-V

A15—8000/7 ( Continued )

( 3 )

(r) toi^ ̂  "STRft,
Fhcto yi4>ldH FFTsfl^

^ ̂TTR to—

yhto toi

(If) 3Tf ̂  1^rto to Rto^

3Tni, to 8fto ton§R^ stt Rtotoi

(^) sn^RT 1^ ̂̂TT

toft i^Kto 1toto;

4. Rito^ to :
10x3=30

(^) 't tor ^
tor^ ton to tontoft rt rt
wito yicidw^n ̂ torr toi

T^gr

to tonr RT? to tonr^ ito irr to

snsTTRTrfR "gtor f^i

(ii) "wto to" ̂§^srto ig^sftoto
w! totoit Rrto to ^^ton

toi

"^5T

*ato ̂  tor' iSFSTiRW iSFsntoto 'sto to'
tonr Hital 3to RRt toto ^<^cni

1^1

A15—8000/7 f^um Over}



( 4 )

(T\) ^ ^?ToIT

% HlPl<HI^ -RRTf^ ^5TRT^

[^<1

'l^f^Rnft' isF^n^f^ O'^i^Pifl'm ^ ̂rt^afrr ^<i^i

fer ^idHsJw" TqiT likin^

f^i

★ ★ ★

A15—8000/7 3 (Sem-1) BOD

-V

3 (Sem-1) BEN

2 0 14

BENGALI

( Modem Indian Language )

FtUl Marks : 60

Time : T.Vt. hours

The figures in the margin indicate full marks
for the questions

^ I WS

W Sl^bVaWj<? mm OT?fRr?

(«) ^11^511^^ ft

' (■&) 'SJC'ST
Clto ̂  I

(1^ '*W5T (Tffto cm

A15—1100+1000/1 ( Turn Over )



9^*, c* ; * { 2 )

^ 0 r ■^X8=V

(^) ^ ^ #t 7

(^) . *'-9%^© .^^ "^Ti^ ̂  ̂  I
^Icq^j voj[^<ll vo^R 9l^c<l l"

.  V •

c^, ^(:5ff|j:5isT 7

(sf) ^ '^<)«iiM*»r C9K "sKoii^ ^sjpTC^ 7
I  ,

(^) W C^ C^, C^«?fRF l9fC?lf|»f 7

O I RcT*1 (c^ C9ICMI l«*li5) S (ix\!)=^(j

(^) "ci^|$l "^SffT? vsfl}^ l"
^ I '

('^r) '*1^ trf^ ^ i
CT '^Rioi|j< ^ W II"

^a>rsf^jNiT^j ; . . ^.

(5f) c-sm^
■fe«?IT ^ i»»

Ce^^ l' ' ' ' ' ' . - '

A15—1100+1000/1 ( Continued )

{ 3 )

(^) "R»C«1IW5l *TOI-W ^ TO,—5^-^
^  TOT TOrm

m;"

.■^smTOm^rar i

(s)
<aw5Tl.1li^-^-TOn:®i^ ̂  tot "^t^to to
orofe^;"

■^21^ ^JNTT 9W1 I

8 I •(^) w®i wn' c# wim wara
f&<iifD OSITO Rcsff^ TOBT R(.a<i®f ^^?TT l ^ o

V5l^

W "C^l^l^! ̂  -91091 !
TOTO TO^!"

<1^1 C^ 7 9lC9f^^^) 9^1i RC<IC^7
^ic®ilc9 s^ifi bI^tii-l$tii®T <pwl I

(LI (^) '^•nisi TO <pRvsiIDcvs (,^?^0CW51 ̂ TC^?I
(?r xsT ^5^ I bo

(^) fsis' CTO wroro
<»RvoifD<^ R^ws csm «ito

9wi I

Ai 5^1100+1000/1 ( Turn Over )



( 4 )

^i" csm ̂

^<J0T2fC1 W?(^ I io

^mr

('T) ^ ̂  (7f%lf|' -<fiRva||I^<f
C^oRM vsRRT C»RS(T I

★ ★ ★

A15—1100+1000/1 3 (Sem-1) BEN

>

3 (Sem-1) ASM

2 0 14

ASSAMESE

( Modem Indian Language )

Full Marks : 60 .

Time : 2Vi hours

The figures in the margin indicate fiiU marks
for the questions _

(^) ̂  CW\ ̂lR»l ?

(st) ^iRvj) er^Wsf <pR^i
^ i»RT I

(T^I) <pR ̂ ^oIJ C^PH D*H^ ̂ ^R®i ?

(^ 'CTOtft' 2i^ cw ?

A15—60*/36 (Turnover)



(2)

^x8=V

(^) *««rsiM' ̂  cw ?

('sf) 1^51^ ̂pKsr 1^ ̂  ?

(^) oiR-^Rj cw?

(^) ^ ^^#5T-''3pK ̂  1^ I

o I 2i*ppg^.^^1^ (R cmii i«Pi5i): <ix\s=i<i

(^) '%T-^bVoM ̂snc^ ̂
cvsic«ii »ic-<i^ i"

<l»R*ol\*l Cvs|>IM '^''3!^ C<Piicul <pRvoh
w ̂  ^nR-^ 1%

t^PC^ «ilC01H>*il <P^I I

(^) C^^<r^R <pRv©lfD^ ̂  ̂licoilb-il I

(9f) ^ <p>i«ii<i»is v»Sii>i*/J^ ^RvoifiJvs

1^ ^9^5 ^SRT <pRc^?
cs^ 1% ^51^ 7|«o(if c^

cTO?

(^) "siTwm *03^ ̂5i5n^'^ c^phR<

'Tsiw

^1

A15—60*/36 ( Continued)

i 3 )

8 I RjlPlF^ SRPI^ I^Rt (1^ (3iK=n ̂ S6t) : ̂ OX\0=\!)o

(^) v»SlM^M 'CSIK <?fn' <»Rvs|fi5.<^ ^Id^SrC^
2R#tv5 '^CTCSPi' ^IColllHI ̂  I

('^f) 'Rtift' <bRv6i(:iJivo ^5|^
t% RbiRcfe^, 1^ I

(sf) <pRvsiibvo 2I^I*f

^R^ ̂Rc?r 1% 1% ^^Rc^,
"^NIWIbHl ̂  I

('^) ^RvsifD^ Jlicerc^ wmIIw ^RvoW

R»tc^ aRxpPivo

^IWIbWI W I

{®) 7irai^ ̂5Pi%T ̂ Rv5r ̂ ^#5it»i% RmwgR
^RollbHI W I

(^f) # 1%,
^IWIbHI ̂  I

★ ★ ★

A15—60*/36 3 (Sem-1) ASM



3 (Sem-1) HIN

2 0 14

HINDI

( Modem Indian Language )

( Hindi Kavyadhazai )

Full Marks : 60

Time : 2V2 hours

The figures in the margin indicate full marks

for the questions

(^) ^ «nn % ̂  I?

1x7=7

(13) ^wj| |*fl' Wfcft
t?

(n) ^ ̂ ^ |31T 8n?

{^) % i-cjRidi ̂  t?

(^) x^ifSK TTSI^ % W STT?

(^) 4)fc|ci< ^ ̂

(^) ^ % to ̂  ;

2. 3# ^tR : 2x4=8

(^) 3N^ 3rMt ̂  ^ ^ 3?q^
3TKn3ET t to -SFFR Vi^ ̂  t?

A15—4000/5 Turn Over )

1



( 2 )

(13) ^ ̂ ^ 3TNt' ̂
1^ -^fl^ q ^ ̂  %?

(tt) ^ C
w %?

(^) [^€ilH(ci ̂  ̂3FR ̂  3flT ^3^T
SIT? ^

3. pMfdi^cl t t 1^ ̂  3nRf % ^ :
5x3=15

(^) '*dfl«hl| ^ 3lf^
trt%> ̂  311^ Fre

(73") ^ ̂ ^ "J^l
J||e|]^ ̂  cT%afT «FT% i^ii"

^ ̂ ̂ W t?

(tt) ^ ̂ arf^tdM wn t?

(^T) '^TcI^' ehl^dl % TTT^^PT % ^ W ^^Tfr
t?

(^) iiH^iO 1^ 'R'l«*)<.' ^ ̂  ̂frf^ -Hifti^ch
wR-qq

4. 3tR : 10x2=20

(^) "W ̂  ^ 1^^"
— ^ ̂  ̂ wftcT % Trfcter ̂

■}

A15—4000/5 ^ Continued )

( 3 )

3T8raT

«IT?

(13) *3TTc4-^Tft^' ^ -mm IdRdm
3T«>WT

'i45l<t>i <h\oHk\ % 3imR ̂  ̂  %
^  I

mm oiilteiJI :

^sft ^ ̂  gSTT, ^iftcT I^TT ^ ̂ I
^ 31^ ̂  ttI ̂ -qftcl #? II
^Tf% % ̂ IcSR *RT, i^Ra RiRa ^ fz I
^  ̂ Wft ^ ^11

3TSraT

^TSTT RlciK,
^^ ̂ ̂  8ft ̂  ?i^i
13[^ ^ ^ ̂  ̂j^ft

TIT^ t I^R ^?ft^,
cft^ eb4 4 (4><. et)5|
**t cifecft4?8R|"

★ ★ ★

10

A15—4000/5 3 (Sem-1) HIN



3 (Sem-1) ASM L

2 0 14

ELECTIVE ASSAMESE

Full Marks : 60

Time : 2Vi hours

The figures in the margin indicate full marks
for the questions

i I ^^^1^ : ^XV=tr

(^) ci>l<Pl^ ^5151% ?

{^) CW C3%?

(V) 'aSFf

(^) v£i1^ RdW '

(29^?

(■5)

af^ ^5pi%T f^if^
c^pi^i ?

A15—12*/35 (Turnover)



Mi t' ( 2 )

I  "6^ C&T^ 1^ (1^ : «x8=i^
'' • -li.

(^)

(''f)

(^)

(■iq) \5RR <1D*I

(«) .

(^) ^>i%i i%f^ a<M<i(:«'T

(^) ^SfRS

OI : ^x<i=bo

W ^#t¥r ^ c^fPi^ ^ I
(^) i^%5 ^%5q ijusfvs R»<)| <>(1^1^ ^ItC^PT ?
(9r) 1% ?
(^) "SIT^R 4*vrR'^ *?RRf ^511^ 1% 1^

^sro? * ■
(<s) ^5rf¥ "f^ ^

8 I (^) C'^l4>jll^vgj 1^ (23^-
Rs»i®?h ^
1^^«rwi io

ww

(^) <p*iTpi^ ^
^  1% 1% ^snqs

WSflM q>fr I

A15—12*/35 ( Continued)

( 3 )

(^) *fwtT^ ^wm ^ftqr G3%
m«Tvs <?R5T ^TlTfU ^snqs (]qJ1|>j*lJ>l^^ ^IC^IIbWI ^ io

(^) STRs-*!"^ qif^vsj «i}i^
^ic«=iiwi I

>5? I (^) sr^Pfto i£paiR<Pi*K "^l^^i^ivs v6i>j^qi ^
^IWlbHI ̂  I ^o

(^) ^ C^ 1^ :
^(^>ii[^vDi I

(tx^=io

*★★

A15—12*/35 3 (Sem-1) ASM L



3 (Sem-1) NEP L

2 O 1 4

ELECTIVE NEPALI

HIlU Marks : 60

Time : 2Vi houris

The figures in the margin indicate full marks
for the questions

1. : 1x7=7

(^) ^Rbchletc*^ ^ l^cbsjui
3rfcri^ cbl^cb^ ̂

(Tl) ̂  Pl<F^d TOST chi^dl^l ̂

(^) ^TRfgKT ■^113 %

(^) 'M 4»PldlebT ^ ̂

(^) "RBT^ wfhRn^ ^c(cbidichi ^
f^?

(^)i ^ 1^? -

(^). ^ 1^?

2. 3# "3^ : , ; 2x4=8
(^) ' I''

3^ af^ ch^Hdlj ^ *1^ #?

A13-t50.0/37A {^furh Over )



J qaK S ( 2 )

(^) ̂  'ij>MlHKWJ|'
«bicn«ftl <»>I^ai lit?

•f^?

(^) 3RT7f^ TmftF)
^KIHI 5hf^ "f^T^?

3. ̂  "SfFT 3R^ u  . 5x3=15

(qj) ^f^RTRRt %m 31^ TT^i
V--\ > • I

(13) ^31# +(ll^r<(<W ailf^^I^ ̂
3l^ ' '

(T) ^^RTST anq^
■ '■ :>mT--Wiri imr 'f % 3!irt)

;^? i;

(^) ^n3pt^i F t

4. iRqqit >sTi<' : 10x3=30
(^) >:iqm

'  (^) *nqT, TO ^ fieftqjt ^
%WMR;Jch) ^ ' • '

"ST-

A15—^50Q/37A ^^Odnixnued.)

( 3 )

(tt) qft^ ^
chf^dichl snro 'T^t^i

(iq) ^ qi^TO^ 'ciKldll ^\^m\ ^
TO^

(^) MMI-^flO* chfqci|ct>l ^IcOmcI TJ^qr^

★ ★ ★

A15—500/37A 3 (Sem-1) NEP L



3 (Sem-1) HIN L

20 14

ELECTIVE HINDI

( Hindi Kavyadhara p

Full Marks : 60

Time.: 2V2 hours ;

The figures in the margin mdicate fuU marks
for the questions

1. ^ ̂  : 1x7=7

(^) ̂  ̂ ^
t?

}

(^) ^ f?

(^) ^ ̂ m w %?

(^) ^iTO % ^ isrft
.  ■ '• Vr

{^) "

(^) <♦>«? TF^ ^TR ^ "^'ft WFT «FraT %?

(^) -

2x4=8

A15—1200/4 ( Turn Over )



( 2 )

(^) ^ %?

(^) ^ w Mmcii ̂  %?

(^) ^5^ .^ ̂  %5ft «ft? -

3, 1%^ <fhi 3R^ % ̂RK : 5^3

(^) ^ '^dlR ̂no!r ̂  ^ ̂ ^SfTciT t?

(^) 1^ ̂  ^sm TRFT ̂  TJ^
TR tr —^ 3TRR TO ̂ If^l

(^) '1^ ̂ mr 3^' ^ ^ ̂
t?

(^) '1^^'^ TO f ?

(^) 'fttNrf ̂  ̂>T5^-TOT ̂  3TOT 5rf^|

4. ^?5RfF ̂ zflW :

^i5(f, TO, "fe^TcT, eiRl^mri
'ft'fhr ̂  TO t>^ TOII

aT«rar :., :;~rF

^ ̂  JIM I

5. %lft ̂  TOR ̂  3ITO ̂ tI^I

3T8im

RflRT* ^ ?T]cn?f ̂  cQf^m

^xs

lo

10

A15-rrl200/4 ( Continued p

( 3 )

6. ^ llRNmaiTf ̂  3TTTOR cfit^m

3T«raT

'arror 3^ to' % irfctror ̂  titot
^rf^i

★ ★★

10

A15—1200/4 3 (Sem-1) HIN L



i:

f

3 (Sem-1) BEN L

2 0 14

. ELECTIVE. BEm

FuU Marks : 60

Time : 2V^ hours

The figures in the margin indicate fUU mxxrks
for the questions .

(''T) "felF ̂  W W®

•  ̂ . ■%.'' •• '■ ■ ' : 1 -'■ "• ' ^'" " -3 *^ '

(<s) '*^TO CSrsR*-^^— l" •
(i)

(A) ' '
(«) Rwioi
(8) I^JTSH • •

A15—1500/34 ( Turn, Over )



^  i 2 )

(^) ^ CSpWfflc® WfCtfCT^ ^d^f^gf ?

(^ <pc^i ̂ iPf i" c^?

^ I "^fT^ :

(^) ̂ snsjrC^ ^ TO C^Id^ I

('<) '*cm ^

c^, ^5if^<t telfeeR ?

(''f) *'^1»||5^ ^0^ V!9|R><I1

"sIC^tI^^TO^ITO l"

c^ ? ^«icvo ^Ridiid^»f ?

W  "C5iK^Sr5«RRS|i%

^*itI ^TOTTO^ ̂l^dill^d^ ?

«l RflPlR^ 2fC5I^ (c^ 1^5(15) : . <^x«~v

(^) ^ ̂5R5|^ ^wrm^r' ^si^
SJHCTC<15? ^i'sr»i'6Sfi ^8 CP^fTO I

(i?f) (TPsn:^ ̂ 3^ T^'i^

■Rsftn ̂  >iita ̂ ^csrflim ̂  l^er Tfr^Q i

(?f) 'wfpm' ^spfm ^ ̂̂P3pid^
^2|rcHiT ^HaiQjlb 'TsC'PC^ C^ir'fT I

A15—1500/34 ( Continued )

I 3 )

(Xf) C«l«?«i "jijiw TO I

(«) ^TSTOTO'IJI C5i^ :V
**^lc^*5]?i R»^i c"th c^pc-i ^ic?i t-vcoi wh

v©ivg^ W •TT^ II
C*«?H ^ «^C?15I C'<^lt«1 ^ wc«i

1^ ir'

(»n3iRapi^^iBiw:^ »!TO*0

8 I 'RilW^ TO (<7i C^IC^ : ioxvs=«o

(^) "«TOWr^
wi i"

*^5igTO5r5i' ^idTO wiOT « ̂

^IC.«1lwl <PWI I

C'^) 4i(^RHii>i, t# ̂i%T tpm -gteffa wmr

1^d$R®t <PWl I

(5t) '^siaro'H'WTOCtrn'TO^f^WrTistel^^?^
CTOltT 'SPSR^ TO I

(^) *4RwI "5®' WR^-*rQW-T5^
C5fC5?|T I

A15—1500/34 ( Turn Over )



( 4 )

(<s) 71^ wii:^ ̂  c^?

»t^6ff5f X5nc»w»ri^ ̂dif I '

(■^) dsTO '^. *^R<^5ti«r ■^' ̂  c^ i%=Ti^
to wfTO ^

'  ifl'sto '»fiW I

★ ★ ★

A15—1500/34 3 (Sem-l) BEN L

3 (Sem-l) ASM L

2 0 14

ELECTIVE ASSAMESE

FuU Marks : 60

Time : 2V2 hours

The figures in the margin indicate full marks
for the questions

^ I : ■ ixir=V

(''f) ^Vod^lM CTO G3%?

W  'agN^f%5'

W wi<»>iiRvoM v£il^ toi^ ^ >

cat?

(^)

W  c^ 211^ ̂ 5pi%n
c*pH c<Pl^t ̂  ?

A15—12*/35 (Turn Over)



J M8A (f miai e ( 2 )

>0X8=^^

ivinaaa

(^)

(^)

(©) ^N^hn

{^) ^>\%^\ sfw:^

(x)

V5 I ^X(i = >o

(^) ^sft?n ^ ^'
(«f) ^ nr^ ?

(^) '^iR^ # ?

(^) "sn^jR 1^ R5
^sn^?

(®) '^fvE^fiim' ^ "^iRf ^ ̂

8 I C"^) c=W!ifl>5i ^Pic^i ^ c.<=ii<p^iR^j<^ ca^-
f^vaiT'SrH

RfRiRn^l io

' (r) ■sntR ^
■55^ <11^R> 'rrb=i'^ ^ ̂
\oii^crj v5TK^, <p"Ci I

f

A15—12*/35 ( Continued )

( 3 )

4 I (^) awR ^ "snwRR ^^ft?n C3% *Rm

ww

(R) Tni^ ^

^ I (^) ;2rRrjt*r "^1^^1-Hvo ^5Plft?n 1%Rr
^5fK°TTMT I

WW

(R) ^ M :
Rsf; wiWr 1

* ★ ★

^O

(^X^a^O

"'r :A

A ■pi-'O-'i^

A15—12*/35 3(Sem-l)ASML



3 (Sem-1) PSY

PSYCHOLOGY

( General )

(Introduction to Psychology)

Full Marks: 60

Time: 2V2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. State whether the following are True or False :
1x7=7

(a) The pituitary gland is called the master
gland.

(?nw ^ afl ̂  ^'

(b) A psychologist can read one's mind.

(c) The msyor psychological function of our
brain is to proceiss iiifdrmation.

<RT I

A1^300/76 ( ̂rn C^er;



( 2 )

(d) The cell is called the smallest unit of life.

(e) Natural observation is a scientific
method.

(f) The neuron transmits information firom
one location to another.

' ■ "" v£l^ ^ ̂5(H ^5f$t35lt5f

(g) The brain is surrounded by skull for
protection. r

"51%^ ^51^ "siR^sw^i

^i^vo 1

2. Answer the following questions in two or three
lines : ; , . . : 2x4=8

.(a) Define experiment.

(b) What is case-study method?

.(c) What do. you mefin by neuron?

9

(d) What are chromosomes?

1% ?

A15—300/76
'>■'■?

(Continued)

{ 3 )

3. Write short notes on any three of the
following: 5x3=15
\5»i^ c*?ic*ii R)Ri>h 15^ s
(a) Goals of psychology

'  (b) Observation method ^

(c) Centra hiervous system

(d) Visual process
Stl^RIT

(e) Form perception

4. Answer any three questions of the following
in detail : 10x3=30

C<PiC*il R>CllJl 2RK %

(a) Give an account of psychology as a
science.

(b) Discuss the major advantages and
disadvantages of using the questionnaire
method for a psychological study.

viwiR^w srai^-
3^ ̂ R^ ̂ 1^ I

A15—300/76 ' ^(TuhiOder)



( 4 )

(c) Describe the structure and function of a

neuron with a neat diagram.

<p^i I

(d) What are the factors affecting perceptual
organization?

(e) Give a brief description of the human ear.
Draw a heat diagram and label it.

^ I

★ ★★

A;^30P/76 3 (Sem-1) PSY

3 (Sem-1) EDN

2 0 14

EDUCATION .

( General )

(Foundation of Educational

Theories and Principles )

Pull Marks: 60

Time: l^/i hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

vsqvo PicT"! :

(a) "Education is a process through which
the child makes his/her internal

extemsd." Who said this?

1<pR51 ?

(b) Who \iri-ote the book. Education: Its Data
and First Principles?

Education : Its Data and First Principles
C5p?R5 7

(c) Education starts with schooling.
( Write True or False )

(  (?T "^PIT )

A15—50*/12 ("^rn Over)



( 2 )

(d) Nonformal education can be said as
contin\iing education.

( Write True or False )
1*1^ i

( (?T Rprr)

(e) Cocurricular activity has no implication
in modification of instincts.

( Write True or False )

I

( Rrm )

(f) Order is not required to keep up the

discipline.
( Write Yes or No )

( (?T^i^Rn?(T)

(g) Write any one objective of value
education.

R  ̂ Rt^it i

2. Write very short answer to the following
questions : 2x4=8

VS01VO R?n :

(a) What is the wide meaning of education?

4Jia^ ^ 7

(b) Write the need of aims of education.

aciii'Si^^voi Rnt I

t

A15—50*/12 ( Continued )

( 3 )

(c) Write two characteristics of informal
education.

(d) What is internal discipline?

3. Write short notes on any three of the

following : 5x3=15

R c<pic*ii RRtSr "6^ cui<pi Rrfi:

(a) Education as an instrument of social
change

aR^Po^ R**pi

(b) Individual aim
<jjl^c<pBr<p

(c) Educational role of family
aRgTO t"iRp<p ̂ R<pi

(d) Principles of curriculum construction
ai^5i»2R

(e) Discipline and freedom
x5|^xro xsn^

(f) Qualities of the ideal teacher

Answer any three from Question Nos. 4 to 9 :
10x3=30

4-^ aai 9-^ Rw R c^m RR6r ̂  ̂

4. Discuss the nature and scope of education. 10
aR^ ̂icaiwi ̂  i

A15-50V12 (Turnover)



5.

6.

7.

( 4 )

What is vocational education? What should

be the aims of education in democracy?

Discuss. 2+8=10

^  ?

^ I

Write about some characteristics of schools.

Discuss the relationship between schools

and society. 4+6=10

C<PVOC<II<J i^rfT I "wsr
R<JC^ V0j|(.er|i0rii ̂  I

What is meant by cocurricular activities?

Discuss, in detail, the importance of different

types of cocurricular activity. 2+8= lo
<Pl<fl^l^ ^Pic«1 ^

^1

8. Discuss about the causes of indiscipline in
school and suggest remedies. 10

viJlCellbHI w I

9. What is value education? Discuss the need
and importance of value education. 2+8=10
^®1JC<II4 1%? aciii«rM ^5(1^

^icaiHi ?par i

★ ★★

A15—50*/12 3 (Sem-1) EDN

3 (Sem-1) PSC

2 0 14

POLITICAL SCIENCE

( General )

( Political Theory)

Full Marks: 60

Time: 2V2 hours

The figures in the margin iridicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed :

fen :

1x7=7

(a) "Political Science begins and ends
with the State." Who was associated

with this statement?

1"

vojlRoi ?

A15—50*/10 ( Turn Over )
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(b) "History without Political Science has

no firuit. Political Science without

History has no root." This statement is

associated with

i"

(i) Freeman

(ii) John Seeley

(iii) Jean Bodin

(Choose the correct answer)

(c) Mention one form of authority.

^  ?Rr I

(d) Mention one duty of a citizen.

A15—50*710 ( Continued)

{ 3 )

(e) Right to hold public offices is political

right/economic right/social right.

(Choose the correct answer)

<ilR

(f) The concept of economic inter

pretation of history is associated with

Libersdism/ Marxism/ Gandhism.

(Choose the correct answer)

E^ I

(g) Who was the author of the book titled

On Liberty?

On Liberty C^H ?

A15—50*/10 ( Turn Over )
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2. Write very short answer on any four of
the following : 2x4=8

(a) Write two features of traditional
approach.

(b) Mention two sources of power.

(c) Write one political right and one
economic right of the citizen.

fipRff I

(d) Write two differences between citizen
and alien.

(e) Mention two features of liberty.

*,?VD2|\S|<1 ̂  ^ I

A15—50*/10 ( Continued )

( 5 )

3. Write short notes on any three of the

following : 5x3=15

ft CHICHI K)l4l5N 9m :

(a) Philosophical approach

(b) Legitimacy and its different forms

^511^

(c) Means of acquiring citizenship

(d) Social justice

m\9(<^ TO

(e) Features of Marxist State

A15—50*/10 ( Turn Over )
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4., Answer any three of the following

questions : 10x3=30

1^ C^IM ^ felT:

(a) What is politics? Discuss the

relationship between Politics and

Political Science. 3+7=10

^ICcllbHI ̂  I

(b) What is behavioural approach?

Discuss the characteristics of

behavioural approach to the study of
Political Science. 3+7=10

R'SSH

S^PlSjc<iH

(c) What are power and authority?
Discuss the differences between power
and authority. 3+7=10

1%? ̂v|v9i iinsR

"snMRT "W I

A15—50*710 ( Continued )

( 7 )

(d) What do you mean by rights? Discuss

about safeguards of rights. 3+7=10

1%

(e) What is State? Discuss the liberal
perspective on State. 3+7=10

^ 1% ? ^i(:®iib«ti

^ I

(f) What is liberty? Discuss various types

of liberty. 3+7= 10

•^vssjvsi 1% ? RR>«

I

★ ★ ★

A15—50*/10
3 (Sem-1) PSC



3 (Sem-1) HIS
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HISTORY

( General )

( Early India up to AD 1200 )

Full Marks : 60

Time : 2Vi hours

The figures in the margin indicate full mar^s
for the questions

Answer either in English or in Assamese

1. Answer the following in one word or
sentence: ' 1^7=7

\2)ci\o v£r5t *1^ ̂  :

(a) Who were the main deities worshipped by
the Harappans?

21<IH ?

(b) Who is believed to be the author of
ArthashastrcP

^ ̂ ̂ ̂ ?

(c) Name the founder of the Gupta Empire.

Al5-'10*/39 ( Turn Over )



( 2 )

(d) What is Dhammd?

(e) Name the four Vedas.

&lR "TR I

(f) Alexander attacked India in which year?

?

(g) Who is the author of the book, Indicd?

2. Write in brief on the following :

(a) Harappan Religion

(b) Social condition of the Vedic Age

c<iR<p ̂ 91^ ^51^

(c) Social life of Indus Valley Civilization

1^ >1v2)jVDM

(d) Harsha Charita

2x4=8

A15—10*739 ( Continued )

{ 3 )

3. Write short notes on any three of the
following: 5x3=15

vs®!^ 14 C<PlC"il ^ CUl<Pl I^PTT :

(a) Harappan Economy

(b) Religion of the Vedic Age

(c) Principles of Jainism

(d) Sources for the study of ancient Indian
History

V5R^

(e) Social condition of the Gupta Period

4. Answer any three of the following questions :
10x3=30

:

(a) What do you know about the rise of
Magadha?

'siw ^ 1% wr?

A15—10*739 ( Turn Over )



( 4 )

(b) How would you explain the decline of the
Mauryas?

(c) Give an overview of the Gupta State and
Administration.

^-*ipR ^idciiMi ̂  I

(d) Assess the achievements of Harsha-
vardhana.

(e) Discuss the Chola Administration.
C5MW5f^ 2l*IPI5R I

★ ★ ★

A15—10*/39 3 (Seih-l) HIS

3 (Sem-1) ECO

2 0 14

ECONOMICS

( General )

( Elementary Microeconomics )

Full Marks: 60

Time : 2 y2 hours

The figures in the margin indicate full rhdrks
for the questions

Answer either in English or in Assamese

1. Answer the following questions :

1w :

(a) What is a scale line?

(b) Fill in the blank :
^  ̂ ;

The relationship between input and
output is called .

1x7=7

—— ■'Ipi ^ I
(c) Define 'shut-down point' in market

analysis.

(d) Define neutral equilibrium.

( Turn Over )A15—15*/11



( 2 )

{e) What is third-degree price discrimiRation?

^ What is quasi-rent? . ,

fgj Fill in the blank : ^
^ ̂ W :

Short-run average cost curve is
shaped.

2. Answer the following questions : 2^4=8

{a) Mention two conditions of price
discrimination.

^  ̂ ?R[ I

(b) State two characteristics of monopolistic
competition.

(c) What is economies of scale? Give two
reasons for the rise of internal
economies.

y  fê #5T i%? ^snvsj^cr

(d) Define collective bargaining.
Wr% I

A15—15*/11 ( Continued)

{ 3 )

3. Answer any three of the following questions :
5x3=15

^551^ %T 2I*PT^l4 ^ '

(a) Distinguish. between normal price and
'  market price. 5

XR \5IR5 I

(b) What are thie factors that determine the
real wages of labour? 5
*PR Si^v© "SJ^R ?

(c) Explain budget line with the help of a
diagram. 5

(d) What is mi isoquant? Explain the
properties of an isoquant. 5

(RRT1% ? %R ^ I

(e) What is a firm? What are the basic
conditions that have to be satisfied for

equilibrium of a firm? 1+4=5

1^? C4HC4^1B1 "5^
«mRF5T ̂  ̂ ?

4. Answer any three of the following questions :
.  10x3=30

^5iv5%n 1^ CTOT M :

(a) Explain the short-run ond long-run
equilibrium price and output determi
nation under monopoly market. 10

^  WTO ̂

^  ̂ '

A15—15V11
( Turn Over )



( 4 )

(b) Explain static and dynamic analyses in
economics. 10

(c) Explain constant returns to scale.
Distinguish between economies and dis
economies of scale. 8+2=10

"srrar "sirt w i

■snsjT

offsm I

(d) Define market. Classify market on the
basis of competition. Discuss the
characteristics, of perfectly competitive
market. 1+2+7=10

PPfT I Sff^CTff^hsR

(e) Critically explain the imcertainty bearing
theory of profit. 10

I

(f) What is indifference curve? Explain
consumer equilibrium with the help
of indifference curve. 2+8=10

1%? c^i>q»h
^TP^HT I

★ ★★

A15—15*/11 3 (Sem-1) ECO

3 (Sem-1) PHL

2 0 14

PHILOSOPHY

( General )

( Logic )

Full Marks: 60

Time : 2 hours

The figures in the margin indicate full marks
for the questhns

Answer either in EijgUsh or in Assamese

1. Answer/Fill up the blank/Choose the correct
one of the following : 1^7=7

v5®f5 RillWM^ *p®t "^/^^

(a) What is the etymological meaning of the
word logic?

'logic*^ ^
1%?

(b) What is normative scieilce?

R"03H C<IIC«1 ?

(a) Logic is concerned with formal truth /

material truth / Both.

(d) Give an example of an argument.

%T I

A15—12*777 (Turn Over)
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(e) Is there a fixed number of premises in a

syllogism?

(f) There are

proposition.
.  v A

forms of general

(g) On what depends the validity of an
argument?

?

2* Answer the following questions very briefly
(any/our) : 2x4=3

(a) What is Validity?

(b) Can a valid ar^ment have true premises
a false conclusion?

^tRRC5T7
(c) Name two logicians who have contributed

significantly to the development of
symboUc logic.
a^<pT?i^ ^srf^en

^ 1ap?(T I
(d) mat is deductive method?

(e) Define an inipUcative proposition.

( Continued )

I 3 )

(f) What is the difference between a general
proposition and a class-membership

proposition?

^t5T ̂ TRR®! ^ C3%-WW "sn^
1%^^?

3. Give short answers of the following questions
(any three) : 5x3=15

^55!^ a»RRm 15^^ (1^ (^m i%t^):
(a) Distinguish between truth and validity.

^l"Q?vs <11^^ I

(b) Distinguish between positive science and
normative science. What is the ideal of

logic as a normative science?

R'ssh ^5(1^ ^iT"lPi0 R'fiisw^

-(c) What is a logical constant? Illustrate
various logical constants with suitable

examples.

^R41^ ̂  c^? ^5% vt>iR4i%

(d) Construct the truth table for a
conjunctive and an implicative function.

<p^l I

(e) Explain tautologous, contradictory and
contingent statements.

^sl^aiT R^ 1^,
^ 1

A15—12V77 ( Turn Over )
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4. Explain the chief characteristics of

S3mnibolic logic.

Or/^n^

Explain the brief history of the development
of symbolic logic.

^<^R>2sh ^TNTT 1

5. What is a truth function? Explain the basic
truth functions with the help of truth tables.

c^lPl<P ̂ TSJ-
W I

Or/

Construct truth table and determine the
validity and invalidity of the following
arguments :

(a) (b) pvq

10

10

~P ~p
•• ^ .-.q

6. Define a proposition. Give an account of the
modem classification of proposition.

Or/

What is a simple proposition? What are its
different kinds? Explain each of them with
suitable examples.

WT ̂  W C^? ̂  £fwm f% f%->

<m\^\

★ ★★
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